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Spearman's rho:

   R=0.195

   p=0.0854
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Spearman's rho:

   R=0.242
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Spearman's rho:

   R=0.485
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Spearman's rho:

   R=0.508

   p=1.78e−06
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Spearman's rho:

   R=0.557

   p=9.63e−08
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Spearman's rho:

   R=0.379

   p=0.000571
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Spearman's rho:

   R=0.112

   p=0.0238
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Spearman's rho:

   R=0.407

   p=1.24e−17
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Spearman's rho:

   R=0.261

   p=8.83e−08
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Spearman's rho:

   R=0.457

   p=2.21e−22
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Spearman's rho:

   R=0.583

   p=1.96e−38
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Spearman's rho:

   R=0.379

   p=2.28e−15
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Spearman's rho:

  R=0.196

   p=6.21e−11
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Spearman's rho:

   R=0.541

 p=2.85e−84
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Spearman's rho:

   R=0.512

   p=3.6e−74
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Spearman's rho:

   R=0.39

   p=4.2e−41
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Spearman's rho:

   R=0.432

   p=7.1e−51
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Spearman's rho:

   R=0.452

   p=3.83e−56
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Spearman's rho:

   R=0.351

   p=2.69e−10
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Spearman's rho:

   R=0.286

   p=3.54e−07
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Spearman's rho:

   R=0.226

   p=6.64e−05
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Spearman's rho:

   R=0.081

   p=0.159
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Spearman's rho:

   R=0.416

   p=3.13e−14
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Spearman's rho:

   R=0.233

   p=4.74e−07
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Spearman's rho:

   R=0.503
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Spearman's rho:

   R=0.313

   p=7.55e−12
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Spearman's rho:

   R=0.443

   p=1.91e−23
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   R=0.586
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Spearman's rho:

   R=0.363

   p=7.36e−17
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Spearman's rho:

   R=0.46

   p=2.4e−27
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Spearman's rho:

   R=0.331

   p=3.61e−14
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Spearman's rho:

   R=0.312

   p=1.09e−12

●
●

●
●

●
● ●

●

●
● ●●
●

●
●

●

●
●

●

●

●
●

●
● ●

●

●

●

●

●

●

●

●
●

●●

●
●

●

●

●●

●

●

●

●
●●

●●●

●

●
●

●●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
● ●●
●

●

●

●

●
●●
● ●

●
●

●

●

●
●

●

●

●

● ●

●

●

●●
●

●

●

●
●

●

●

●

●

●

●
●

● ●●
●

●

●

●

●

●

●

●●●
●●

●

●

●●
●

●

●

●

●
●

●

●

●●
●

● ●

●●

●

●
●

●

●

●

●
●

●

●●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●●

●

●

●

●

●

●
●

●

●

●

●

●

●
●
●●

●

●

●

●

●

●
●●
●

●

●●
●

●

●

●

●

●

●

●
●

● ●

●

●

●

●

●

●

●

●

●●

●

●

●
●

●

●

●

●
●

●

●

●

●
●

●

●

●

● ●

●

●

●

●

●

●

●

●

●
●

●

●

●●

●

●

●

●

●●

●●

●●●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●
●●● ●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●
●

●

●

●
●
●

●

●
●

●

● ●●

●

●●
●

●●●
●

●
●

●
●

●

● ●

●●

●

●

● ●
●

●

● ●

●

●

●

●
●

●

●
●
●

●

●

●

●

●

● ●

●

●

●

●

●
●

●

●

●

●

●

●

●
●●

●

●
●

●

●●

●

●

●●●
●
●● ●

●
●

●

●
●

●●
●●

●

●

●
●

●●

●

●●
●●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

Spearman's rho:

   R=0.551

   p=8.71e−41
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Spearman's rho:

   R=0.438

   p=1.01e−24
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Spearman's rho:

   R=0.045

   p=0.724
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Spearman's rho:

   R=−0.142
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Spearman's rho:
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Spearman's rho:
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Spearman's rho:

   R=0.005

   p=0.971
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Spearman's rho:

   R=0.273

   p=1.68e−10
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Spearman's rho:

   R=0.332

   p=4.07e−15
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Spearman's rho:

   R=0.27

   p=2.62e−10
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Spearman's rho:

   R=0.423
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Spearman's rho:

   R=0.563

   p=1.14e−45
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Spearman's rho:

   R=0.443

   p=7.04e−27
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Spearman's rho:

   R=0.396

   p=2.61e−12
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Spearman's rho:

   R=0.412

   p=2.94e−13
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Spearman's rho:

   R=0.384
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Spearman's rho:

   R=0.44

   p=4.4e−15
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Spearman's rho:

   R=0.374

   p=5.1e−11
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   R=0.6

   p=1.08e−29
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   R=0.213
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Spearman's rho:

   R=0.637

   p=3.73e−61
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   R=−0.027

   p=0.596
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Spearman's rho:

   R=0.015

   p=0.777
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   R=0.004

   p=0.934
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Spearman's rho:

   R=−0.136

   p=0.00869
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Spearman's rho:

   R=0.239

   p=4.72e−08
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Spearman's rho:

   R=0.164

   p=0.000204
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Spearman's rho:

   R=0.278

   p=1.72e−10
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Spearman's rho:

   R=0.33

   p=2.07e−14
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Spearman's rho:

   R=0.356

   p=1.11e−16
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Spearman's rho:

   R=0.269

   p=7.14e−10
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Spearman's rho:

   R=0.41

   p=1.02e−21
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Spearman's rho:

   R=0.306

   p=2.44e−12
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Spearman's rho:

   R=0.316

   p=4.52e−13
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Spearman's rho:

   R=0.339

   p=6.3e−15
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Spearman's rho:

   R=0.421

   p=5.59e−23
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Spearman's rho:

   R=0.401
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Spearman's rho:

   R=−0.111

   p=0.311
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Spearman's rho:
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Spearman's rho:

   R=0.359
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Spearman's rho:

   R=−0.076

   p=0.144
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Spearman's rho:

   R=0.082

   p=0.112
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Spearman's rho:

   R=0.06

   p=0.246
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Spearman's rho:

   R=0.042

   p=0.414
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   R=0.11

   p=0.0344
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   R=0.492
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Spearman's rho:

   R=0.537

   p=1.07e−14
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Spearman's rho:

   R=0.542

   p=5.4e−15
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Spearman's rho:

   R=0.148

   p=0.0458
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   R=0.39
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  R=0.087

   p=0.0516
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   R=0.026

 p=0.571
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   R=0.179

   p=6.18e−05
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   R=0.059

   p=0.192
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   R=0.128

   p=0.00445
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Spearman's rho:

   R=0.208

   p=0.000811
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Spearman's rho:

   R=0.38

   p=4.1e−10
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Spearman's rho:

   R=0.107

   p=0.0864
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Spearman's rho:

   R=0.366

   p=1.93e−09
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Spearman's rho:

   R=0.427

   p=7.77e−13
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Spearman's rho:

   R=0.199

   p=1.48e−05
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Spearman's rho:

   R=0.259

   p=1.24e−08
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Spearman's rho:

   R=0.254

   p=2.38e−08
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Spearman's rho:

   R=0.273

   p=2.19e−09
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Spearman's rho:

   R=0.28

   p=6.3e−10
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   R=0.091

   p=0.0827
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Spearman's rho:

   R=0.527

   p=1.49e−27
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Spearman's rho:

   R=0.346

   p=1.36e−11
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Spearman's rho:

   R=0.359

   p=2.03e−12
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Spearman's rho:

   R=0.637

   p=5.42e−43
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Spearman's rho:

   R=0.376

   p=1.64e−06
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Spearman's rho:

   R=0.482

   p=2.6e−10
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Spearman's rho:

   R=0.206

   p=0.00985
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Spearman's rho:

   R=0.385

   p=8.49e−07
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Spearman's rho:

   R=0.157

   p=0.0509
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Spearman's rho:

   R=0.314

   p=7.07e−05
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Spearman's rho:

   R=0.298

   p=8e−12
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Spearman's rho:

   R=0.253

   p=7.54e−09
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Spearman's rho:

   R=0.234

   p=1.03e−07
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Spearman's rho:

   R=0.432

   p=2.19e−24
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Spearman's rho:

   R=0.206

   p=3.14e−06
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Spearman's rho:

   R=0.467

   p=7.99e−29
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Spearman's rho:

   R=−0.041

   p=0.657
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Spearman's rho:

   R=0.017

   p=0.857
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   R=0.205
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Spearman's rho:

   R=0.098

   p=0.022
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Spearman's rho:

   R=0.084

   p=0.0493
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Spearman's rho:

   R=0.074

   p=0.0863
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Spearman's rho:

   R=−0.156

   p=0.000259
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Spearman's rho:

   R=0.284

   p=1.62e−11
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Spearman's rho:

   R=−0.041

   p=0.345
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Spearman's rho:

   R=0.044

   p=0.749
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Spearman's rho:

   R=0.25

   p=0.0632
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Spearman's rho:

   R=−0.012

   p=0.932
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Spearman's rho:

   R=0.207

   p=0.126
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Spearman's rho:

   R=0.287

   p=0.0323
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